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Choose the correct option for following questions. All the Questlons are
Q1. compulsory and carry equal marks -
I. Which one of the following is not an antialiasing techmquc? s
Option A: Super sampling
Option B: Pixel phasing
Option C: Post filtering
Option D: Staircase effect
2. The very first point that gets plotfed by ubmg 1mdp01nt elhpse algonthm 18 at the ‘
location ; o S
Option A: 0, ry) ]
Option B: (rx, 0)
Option C. (rx, ry) L
Option D: 0,0) ‘
3. In RGB system, which-one of the followmg Pomblnatlons seiects the black color of the
object?
Option A: (1,1,1)
Option B: (1,1,0) .~
Option C: (0,1,1)
Option D: (0,0,0)
4. If a line w1th vertices A(2,3) and B(8, 10) is transformed using T =14 0
; 0 1
The new coordmates of the line will be ot
Option A: | (4,5) ‘and (20,30}
Option B: (6,9) and (10,15)
Option C: (8,3) and (32,10)
Option D: "} {(6,9) and (32 10)
5. In Cohen Suther‘and line clipping al gorlthm if both the endpoints of line segment lie
" | inside the window boundary, then region code of the end points are
Option Az | 0001
Option B: | 0000
Option C: 1000
Option D: 0010
6. 1s used to detect the visible surfaces and remove hidden surfaces
Option A: | Area subdivision algorithm
Optiori B Boundary fill algorithm
Option C:- | Liang Barsky algorithm
Option D: Cohen Sutherland algorithm
7. If the line (0.0) (10.5) will be rasterized using DDA zalgorithm, then which point will
lie on the line?
Option A: (6,3)
Option B: (7,5)
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Option C: (10,6)
Option D: (1,2)

8. The process of changing the position of an object almg the c1rcuiar path isca lled ~
Option A: Translation .
Option B: Rotation
Option C: Shearing
Option D: Reflection
9. In window to viewport transformation, followmg is the correct sequence used in

composite transformation 2
Option A: Translation -> Scaling -> Translation
Option B: Translation -> Rotation -> Translation
Option C: Scaling -> Translation -> Scaling
Option D: Rotation -> Translation -> Rotatioh
10. Which vertex of the polygon is chppea ﬁrst n polygon chppmg‘?
Option A: Top right
Option B: Bottom right
Option C: Bottom left
Option D: Top left . :
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Q2

Solve any Four out of Six : 5kjmiarks each .

A ICompare Raster Scan and Random Scan displays.
B (What is aliasing? Explain any one antialiasing method
C Write the tlood fill approach for 8 connected method
D Prcve that two successive rotations are additive i. e. R}(Ol) * R2(02) —R(OH 02) v o
E Write a short note on Bezier Curve. «
F What are the disadvantages of DDA algor1thm‘7 o
Q3 Solve any Two Questions out of Thre’é T D _.‘lﬂmarks each, "
Explain the steps for 2D rotation about arbxtrary pomt and pmwde a comp0s1te
A transformaticn for the same ~
What is B- spline curve? What are the advantageq over Bezter curve? Explam
B it with example.
Discuss Cohen Sutherland line clippiﬁg algorith‘in in detail.
Q4 Solve any Two Questibns& out of Three R 10 marks each
A | Discuss Depth Buffer and area subdivision r‘ne:thod‘ in detail.
1 EXplain window to viewport transformation wiﬁh‘example.

Derive homogeneous matrix for reflection and shear transformation of 3D objects.
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